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According to the color of this sentence: T hat bC(g looks hCC(VY. Tl help you with it.
TRNGL: That bag looks heavy. T'll help you with it.
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TRNG2: That bag looks_heavy. T'll help you with it.
@ hard to handle

@ too large
@ very bulky
TRNG3: That bag looks heavy. T'll help_you with it.
@ your client
@ your friend
® his customer
@ my father

* HARGHIEIT 2 A CTHRGRICIRL TE > CAE L & 9, *Tryto translate into English by yourself without

looking at the English part and say it out loud. Teacher must check their answer.
bl FZ

Translation: = D/ 7| i%% 9 CTd 4, FA 753@290)75:@3 JTHITEL X 9,
Bt =L 7=
TRNG: %0)/*‘/7‘ ﬁzé BV, FANR~LELE BITS,607%,~T,2h,
C)Aﬂ%
Q A—lr—2R
Q@ m»Z
Xz
@ %8
. B Bb bl
TRNG2:Z D /Ny 7 ~IZHRA2 5 E D, FAABR~LFEL XD Eb F 5,577 % ~T, %1,
HOH
O HF iz
BB
@ K455

@ & TbHLbniEs
TRNG3:F DXy 7 ~ZR.2 5 B, AAB~LEL XD BiTs,67%7-%,~7T, %1,

W H W A
O BT DK AN %
R Y 5
Q@ bRl E
AL %<

@?EZ@E

L

@ FLORX%E @sa%f



http://d.hatena.ne.jp/keyword/I%a1%c7ll
http://d.hatena.ne.jp/keyword/I%a1%c7ll
http://d.hatena.ne.jp/keyword/I%a1%c7ll
http://d.hatena.ne.jp/keyword/I%a1%c7ll

6DQ3-28 il ARIEHFH

kRN TERDLVIIRDETH ALV MAY y FTRIXZKBRLLEL X 9,
* Let student try to memorize these sentences. Please use direct method, same as Callan way.
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example 1: Will she go to the sea next month?
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example 2: I won't borrow your compu’rer'
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*wont = will not
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* HARFEEZ A THFEIGGRL TCE > THE L X 9,
* Try to translate them into English by yourself and say it out loud. Teacher must check their answer. These
answers are the same as the given Examples.
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